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Graphing linear equations
Sketch the graph of each line.
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Solve each system by graphing.
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MATHX.NET
Graphing linear equations

Sketch the graph of each line.

1) 4x-3y=3 2) x-2y=2
4x-3y=6 x—2y=-2
A A
. // .
3 // 3
2 /, 2
- 1\ /A . - .
1 e B b o )/ 3 57 Tl S o .
//
7/ .
// -5 -
Y y
No solution No solution
3) 4x-3y=9 4) 5x-2y=2
2x+3y=9 x-2y=-6
A A
T :.
> / )
AN // 5
2 \X 2
—a ‘ \ - - -
sl B b Do /f 1T Tk B3 h o .
- / h
,Z/ /.
/. /1
17 A
(3, 1) (2,4)
5) x+3y=-9 6) x—y=-3
2x—y=—4 dx+y=-2
A A
5 4 5 A Jo i 5 5 L/ b -1\) >
~ N B
~1_ B
TS B
. ~ B
Y A
(-3,-2) (-1,2)



7) 4x+y=4
X+2y=-6
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<KX L 5 L do >
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9) Sx+y=-1
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A
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\
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s 14 B b i
“|
(-1,4)
11) x+2y=-6
S5x—4y=-16
;
/
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__,V
(_4’ _1)

8) 3Ix+y=—4
x—2y=-6

W\

o [S4]

I Vi >
_\
(_292)
10) x—y=4
2x+y=-1
4
<5 L 5 5 >
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12) x+2y=4
xX+2y=-2
4
=T 4 5 N >
-
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13) y=-3
3x—y=-3
A
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5Lk 2 Ao >
s
A
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15) 2x-3y=3
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24) 3x+2y=6

3x+2y=—4
4

N\

4
4

(3]

Y

A

No solution

Y



25) x—y=—4

2x+3y=-3
A
N ,
\ Z
- \ -
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Solve each system by graphing.
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L , Z
=3 P =3
—~ , 4
¥ Y

(4, 4) (3,1)
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215) 0=-8+2y—12x
-y=2=0

B

1
T
1
T

-< I >
s 1 B -2-10 3 5
I
I
Y
(—l,—2)
217) x+3y-9=0
—-x+3y-3=0
A
~ )
\ =
T —
2 />o<\
4-5,- 1 b o ) >
_5V
(3,2)

219) 0=-3x+2+2y
2+2y=3x

U

oL e - N

Y

A

Y

Infinite number of solutions

216) 6 + 6x=-3y

—2x=-6+3y
A
\X 5
N :
G

Z

<—5—4—3—2—0 4~>
" N
~N
“|
(_394)
218) -2 —lx
Y72
—-y=—x-1
A
R, 2/ 0 4 >
“
(-2,-1)
220) x+4y+8=0
4y+8+x=0
A

Y

Infinite number of solutions

-71-



221) 8y + 10x=-8
0=12-x+4y

L.

\

- (3% w £ un

A

1

w

|

Sy
&
|
—
=)

*/
/o

Y

Y
(—4,-4)
223) -8 +4x=2y
2=—y
A

|
"
|
=
1
s
|
5]
|
—

T o

w P

L

(1,-2)

225) —12=5x+3y
12-3y=-3x

4

\

r3
rJ

N

\

\

N W

A

|
n
|
-
Il
w
s
L
—
(=

(-3.1)

Y

222) 3y=6—-4x
3y—x=-9
4

N 5

N\

\ 4

<5 4 5 % dio ) I
o L]
— \
— .
A
(39_2)
224) 2x+12-6y=0
2727
A
~ :
\ g
5 1 B bh\io 3 g
_J\
(-3,3)
226) 8x—y=4
3=-y-x
A
|,
|,
< \ >
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24 8
227) —— —=y=2
) s YT x

228) 0=-2x+ 12+ 3y

3 9
—X+—y=——
12=-4y-5x 2 2
A A
M 3 3
\ t t
-l - - / -
T -3\(-10 5 Tkl B b o 57
= =t ,/
\\ n n P
X\ N
. .
= > e
=4\ //
=5 \ A s
17 Y
Infinite number of solutions No solution
229) 2=y—-x 230) 4-2y+x=0
2=—y+x 4 3
A T
) A
2 ; /
<-5 4 3 2 Q1o > t
- ) < /[ >
., -5 4 3 D2 Q1 ? / 1
4 :3 //
Y /
Infinite number of solutions -
(2,-1)
231) x=12-4y 232) 0=3x—-y+3
10x—-24 =8y 0=-3-y
A A
Sy 4 ‘ 4
oJ \\ : o
«< // > -« >
5 4 B 2 Do /r’ 5 s 4 B3 Dh fio 4
¥ /-
/. A
Y Y

(4,2)
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233) 8§ —2y=-3x
v+1+x=0

*

c
y
2

(_2’ l)
235) 8 +2x=2y
0=3-y+x
A

'
>

Y

T4/ b Do >
Y
No solution
237) 2y—x=8
x=-2-y
A
Tl e B Ndo .
Y
(_4’ 2)

234) x=3y-6
-3 +4x=3y
A

r3

N

P w -~ s

N

A

(3.3)
236) 6=3y—2x

—6x=-9y-27

A

g

2 w - Y

Y

A

\
|

No solution
238) —12=4y+x
3
3y=-3+—x
Y 4

A

\h

(4] w -

Y

A

No solution
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239) 2=-y—x

4=y
A
<5 1 5 2o >
“|
(2.-4)

241) 4+2x—-y=0
2y-2=-2x

A

'
>

A
4

B~

3+

Y

A

(-1.2)

243) O=x+2+y

6 3
5Ty

L.
v ot

.

N

Y

A

3 3

240) — ——y=—x

44

1
O=y+2——x
YTeTy

W\

- S+ w -~

Y

A

242) -16 =-5x—-4y

A

L~
1 )

, =
/ 5

(-3,-3)

4 16
X——y=—

3 3

Uh

N w 5

Y

244) -1 -x+y=0

(4.-1)

-v+x=1

\h

- (4] w -

Y

A
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245) 21x-36=-9y
3+3y=-2x
A

r

4
4

~ A\

N 2 \\
< ™ \ >
5 4 B 2N \.\ 4 5
NN
2 N
_,V
(3>_3)
247) —x—l =1
3J’
—4y+2x+16=0
A
A
\l,
<5 4 5 % Xo I
\
A
Y
(-2,3)
249) 3+ y=—x
15x=24+6y
A
IT17
) /
, /
<—5—4—3—2—1? / 5
L/
L/
J"

246) 3x=12-3y
-12-3y=-5x
A

r3
rJ

&

2
r

a
Z

Y

A

- 4 B3 2 41

(3,1)
248) -27-21x=9y
0=6-3y-Tx
A

0
7(/
Y

\

\

\ 2

Y

No solution

250) 4=y-x
4=2y+4x
A

\h

o [3%)

Y

A

(2,-2)
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251) dy=—4+3x
3x—-4y=4

L.
y

N w £ un

=y

252) 3x+y=-4
—4-3x=y

A

W\

- S+ w -~

|

Tl A B b Do . 5 4 B bh\€o g
/’ =2 2
pdn \
, ~J
—4 -
-5 -5
Y Y

Infinite number of solutions

254) -6 —5x=-2y

Infinite number of solutions

253) —-y—-x=-3

x=-l+y 2y+2-x=0
A A
\ /:
T B 2o - k5 4B -2/—10 i
- /I
Y Y
(1,2) (-2.-2)
255) 0=4+x—-y | 1
_y__x4_2==0 256)'“5x+"§y—-1
A x+16=—4y
i A
3 : /
t /-
/40 B Db Qo g /s

A
=Z

£y
=3

r3

=

A1 1,
%\\ -
7 ~r

_,V
(_4>_3)
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257) —12y - 48 =-3x

y==—x+1

L.

\

N w £ un

e

A

I

(4,-3)

3
259) -3=9x+ Ey

4=—-y—6x
y

[\

\

N w B

Y

A

——

No solution

261) 0=-3x+3y+9

—y=4

\

U

- (4] w -

Y

A

Y

-9 -2x=-3y

A

\ ,
N s

< Pl >
X 3 X\-lo b5
\\ L
_,V
(-3.1)
260) -9=3y—x
15x-27=-9y
A
\:
<5 0L 5 L dio 4 >
_: X/
— \
Y
(3,-2)
262) O0=x+2y+2
3
—2y=-8——x
Y 2
A
7
/ 5
>
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263) —-16=—6x+4y

3
+—x=2
)

L.
v ot

e

P
3% w £ un

=y

7
264) —x=y-3
)2 v

2x=4y+12
A

r3
rJ

4
4

2
J

/:

/=
i

Qi S - Ho > 5 L5 -2/7 B >
w _JV
(2,-1) (-2,-4)
265) 3y=9+2x 266) 0=-3x—-4—-4y
-y=2+x -12=x-4y
A A
Pl : X// :
/ Z Z
1 \\ 1
K B Ndo g Tk 1 B bh o g
¥ ¥
(-3,1) (-4,2)
267) 14x -8y =32 |
_16=—Tx+4y 268) x——y=1
A —3y+6x=—6
j / A
-/ :
R —1_? / I 3 -
R / Tk B2 Ao -
A/ B
J" _‘:
Infinite number of solutions v

No solution
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269) —x=-3-3y 270) 3y=2x+3

12+ 2x=-3y 39
A YTHYET,
) A
. J
= rd
t L~ \\ // 2
4-5 4 B 2 Q1o > I t
SEEEIP= X ;
- ¥ b hNo ) 4
/>.<\ N .
N 2N
:; ~ _i N
Y B
(_3a _2) Jv
(-3,1)
271) 4 . 16 272) 0=Tx—-6+2y
— =_x —
37 3 4=y
2=-2y+x A
A \
\ 5
AN , \\
1 X 5 4 5 B dio \ I
<5 L 5 % Jo 2 I :l \
) R
Y (2,—4)
(4, 1)
273) -x—12=
) —x~12=3y 274) 0= —x+ 2y -2
36 9 37 3
-—— +—y=3x
7 7 —6x=16-8y
A A
:. 1L
A /
/, ad
/. )
/ /
15 4 B 7[ o I Sk 4 A Dh Do 1 -
~ N -
~_ B
/ T .
Y Y
(-3,-3) Infinite number of solutions
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275) y+x=1

2+y=

—4x

L.

\

\

- (3% w £ un

A

(-1,2)

277) -4 —-2x=2y
—1+4x=—-y

4

'
Bl

\
\

Y

A

(1,-3)

279) 3y=—x+12
3y—4x=-3

4

r3
rJ

S~

(4] w 5

-

Y

A

(3,3)

Y

276) 3y=6+2x

2y+4=4x
4
/
, T
<5 57 % dio >
/ _=
*
(3,4)
278) 8=-2y+x
—1l+x=-y
4
{—5 4 3 2 410 >
_X
(-2.3)
280) 2y+2=—x
2y—-4=—x
4

No solution
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281) 2x=-2y+6
—4=-3x+2y
A

ot

u

[3+]

(2,1)
283) 2+3x=—y
-12+4y+2x=0
A

'
>
A
-3

Y

Y

A
_5V
(_2’ 4)
285) Sx=y-4
y=—x-2
A
/
A
-< / >

(-1,-1)

282) 36=12y + 3x

—3y-12-6x=0

A
*\\ )
<5 1L 5 Ao >
“|
(—4.4)
284) y+x-4=0
x—2=0
A
<5 L 5 5 dio >
“l
(2,2)
286) y=-2x+4
1 1 1
=] ——
12 37
A
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287) 9=-3y—x
-9y + 12x=-18

A
A
, T
5 4 5 ;7’-1_0 >
\ ~
\—L
/ LT
/ .
Y
(_3’_2)
1 1
289) —=x——
) 5 P
1 1
=] ——
27 2"
A
N
< I -
s 14 B -2-19[
Ll
_v
(1,3)
291) 3x=-2y+2
4=y-x
A
\\;

288) 6 +x=-3y

0=-2x+24+6y
A
4_&4 B b dio IR
-
T~ _—~
B /: :\
/ £
Y
(39 _3)
290) 2y=—x+2
4=-"3x+y
A
B S P -2/—1 0 4 >
_Jv
(-2.-2)
292) —y—-2=x
2x-3y=-9
A
iy
H—
.
/ Z
<2 5 Xxdio 4 >
_,V
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293) 16 —4y=-2x
24 =-3x+6y

A

r3
rJ

N

=y

A

Infinite number of solutions

295) x=-y+3
3 3

—— ——y=3x

2 8

4

\

Y

A

(-1,4)

297) —x+16=4y

-1-y+x=0

4

\

r3
rJ

N W B

Y

A

4,3)

Y

294) 4 -3x-2y=0

3—x=-y
A
\\i\
< l \\ >
b dio !
. N\
_,V
(29 _1)
296) 2x=y+3
-2y-8x+6=0
A
\
1\
-< \ T-
-5-4-3-2—1?X_ )1
A\
(A
_5"
(1,-1)
298) —12y+3x=-36
y+4-2x=0
A
) //%
— ] .
<5 1L 5 5 o I e
5"
(4,4)
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2=—x 1 1
0=1-—y-——x
A 3712
j A
: ¥\\ )
t \\ : B
\ Z
-« > N
5 4 B p o ' t
= i < \\ >
. 5 4 B3 h ) 4
/ =3 =21T—N
=4 -3 \\
=5 - AN
Y ; \\
(-2,-3) ¥
(—4.4)
301) 18 —x=0
60 —-6y="Tx
A
\\\ 2
N it
N
\ 12
BN
LN
2 \\
Sh0 [ -6 | -2 [ B H# |0 3 ;\ 17} 16 £

4 4
/

3 b

16
=10

19
g 5o

LYY
=ZU

(18,-11)
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=0

302) 21x+26-2y

y=0

1

1

Rl
2

3

A

20

16

12

2

=
Tz

=]

-t

o

16
mE A
1
=iz
1
=

1

10
19
s

i

-8

-20

Y

(2,-8)

303) 39x

972 + 54y

=0

2x+9y+9

A

20

16

12

4

0
14
=
1

Tz
1

gV

1
gAY
1

1z
1
=
14
0
19
L

=ZU

R Y

B

-20

Y

(18,-5)
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O=y+13-6x
A
N o [
AN ) /
AN L
\\ 12
\\ 10
o :
N
4o
Nl ]
< AN/ >
=20 -16 -12 -8 9 4 8 12 6 2
SN
N
NN AN
ol N
AN
T \
7( \
! i
N
7
(2,-1)
305) 26y =—12x — 104
221+ 15x =13y
A
20
18 //,
/
N ,/
™~ ,
- /%\\ -
-0 | - W -2 0 4 3 17) 6 27
/ ~
=6 \\
. NG
=it ~
19 .
. ™~
—LU"
(-13,2)
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306) 20 -2y =>5x
O=y+11-8x

Lo
R =)

-

-

e

N oo D

B

34

Y

A

N

T ——

LIRS

L
3

|
e e

(2,5)

307) -31x=-190-10y
—S5y+40=-2x

g‘

e
@ on

Y

d

(SR - S )

Y

A

o

b & A

|
s

A
D K P D

™~

18 /

(10, 12)

=2z
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308) 126 — 14y =—x
0=28y + 54x + 532

\ 5

.
D |l

P B

|~
N

A

|
tr
o
|
(=}
|
[}
1
)
|
=
N o
—
5]

P
|

5 b & L

1
"
U

//

> T

L L
D H thp D

J:

8
=~

(-14, 8)

309) —x=170- 10y
—10y=-17x-10

TN
l
\
Y

N

N

.
[S+]
N
~

s
P

A

Y

Y

|
S
|
o
|
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1
o0
|
=
& & A Jk\m - N )
—
1]

N

e e b
D K P D

-

=18
/

LYY

=ZU

(10, 18)
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3 3
310) 0=3 +——x ——
) 1o 17”7

0=-7y-9x-21

/

e
N

[N
P

A

Y

L4 L L L d 4

|
;e

|
I~

[ N N
o N B Ny D

-

(-14, 15)

311) 13x=-9-9y
x—-9=0

%

g‘

e
=) on

-

=
'S

e

e
DN oo D

S

34

A

=4

b

L

E

&

LR
=

=1

I N
P o0 O

(9,-14)

-90-

Y



312) 9+7x=3y

14
-]l -——y=—x
197 57

e
N

[N
P

A
e

5 éb Jh J:- Ila?\k-ﬁb N o

~_
/D'ﬁ

g L% L
- L P B
7

(-6, -11)

313) 867 =75x+ 51y
—17y—-255=-Tx
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-
D A

"N
S

e

e
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A
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314) — by
1 —_—y = —
787 T 137

6+6y=17x

e
- =

e

(SN N~ N =~ )
n

A
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Y

~b o
AN
\

.
5 & &

U
=3

N
N

N
N

%
|
N
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-
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(-6, -18)

315) 34 +2y="Tx

—-1=— +Lx
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/
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=
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-
15
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12

/
& &

/

\\~\j7£:
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316) S51=17y—-2x

—646 + 40x = 34y

2

e

e

-

=

W O b D b g b

A

317) 8+ 6x=—y

A

|
\
L4 Ldo

L
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|
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318) 8=—y+17x

O0=-y+9

20

16
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A
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=
4
1z
10
gV

T

T
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-8

-20

Y

(1,9)

319) 0=-5—-y+20x

20

16
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A

1

1
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0
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=
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Tz
10
gV

N

it

T

Y

T
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(1, 15)
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=-3x
=98

—x+7y

320) —42+ 7y
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_-———
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A
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1
mE A

1
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1
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1

0

18
Y

i
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e
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e
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(-14, 12)

321) -17

=-x

=153 =17y - 14x

20

16

A
16
14
12
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Y
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0

LYY
=ZU
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322) -6x=-5y+20
x=27+3y

L.

20

§

e
o

e
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-
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- N -
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p

A

/

(-15,-14)

323) 27y=-324 - 15x
—-81=-9y—26x

A

Y

Y

(9,-17)

-96-



324) -60+2x+5y=0
-15-15y=19x

20

BaN
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N
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2
b0 | -6 | 2 [ B 3 6 g

L 4L LY

(-15, 18)

325) 9y=5x—-144
29x-162+9y=0
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e
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326) 0=—133 - 11x -7y

-18+3y=6x
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328) 8y=104 - 17x
0=-8y-56—-17x
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L
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332) 336 +21y-9x=0
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334) 14+ y=26x
v+2x=14
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